RETZA N EE ERHLSHEOLE 01

AP:PB 2Rk &. (SH0F, Afk143 30, Bik25208, C#H32 208 )

(1) y
B
O] 2 9 12 %
(2) y

(3) Yy
-26 (|4 28

© B - BEEELL 7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. AP:PB &k &. (SH50#, Af1230%, B2 20%, CH3220% )

(1) Yy

(2) Y

(3) y
—-21 -13 | 15
oo T
P \
B
(4) Yy
B

© B - BEEELL 7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

RET AN EER

(1)

(2)

(3)

Y

—26

FEEMN SRS 01 fBEfRS

AP:PB 2Rk &. (SH0F, Afk143 30, Bik25208, C#H32 208 )

K IR EREDZE
AP:BP = (P Oz JEfE — A O x JEFF)
(9-2)
= 7

* R I AR D 2=

AP:BP = (A @y — P O y JEf)
(15—-17)
= 8
2
* &S IS EBEEDE
AP:BP = (A O x JBFE — P O x JEFF)
= (28 — 4)
= 24
— 4
* RIS EEDE
AP:BP = (A @ yFElE — P O y JFEfE)
= {35-(-9)}
= 44
11

(B D x JEEEE — P D x JERR)
(12 -9)
3

(P Dy JERE — B D y JERE)
{7-(-5)}
12
3

(P D z JEEE — B @ x JERR)
{4—(-26)}
30
5

(P Dy JERE — B D g FERE)
{-9-(-25)}
16
4

© B - BEEELL 7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. AP:PB ZkX. ( SHES0M, A1 308, BME2720%, C 345208 )

(1)

(2)

(4)

Y

—82

* R IX AR D 2=

AP:BP = (P Oz JEfE — A O x JEFE)
= (15— 3)
= 12
= 6
* &S EBEDE
AP:BP = (A D yJEfE —P O y )
= (23 — 8)
= 15
3

* RIS ERR D 2=

AP:BP = (P Dz i — A @ g )
= {-13—(-21)}
= 8
= 2
* &S EEDE
AP:BP = (P Oy B — A O y JEE)
= {—34 — (—82)}
= 48
16

(B D x PEEE — P D x FEEE)
(29 — 15)
14
7

(P D y JERE — B D gy FERE)
{8—(-12)}
20
4

(B D x PEEE — P D o FEEE)
(15— (~13))
28
7

(B D y HEFE — P @ y )
{11 - (=34)}
45
15

© B - BEEELL 7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

